Notations:

Education Consultant India Ltd.

1.Options shown in green color and with ¥ icon are correct.

2.Options shown in red color and with * icon are incorrect.

Question Paper Name:
Subject Name:
Creation Date;
Duration:

Total Marks:

Display Marks:

Share Answer Key With Delivery
Engine:

Actual Answer Key:
Calculator:

Magnifying Glass Required?:
Ruler Required?:

Eraser Required?:

Scratch Pad Required?:

Rough Sketch/Notepad Required?:

Protractor Required?:

Show Watermark on Console?:
Highlighter:

Auto Save on Console?:

Lower Division Clerk 17th August 2019 S1
LOWER DIVISION CLERK

2019-08-17 12:26:56

120

200

Yes

No

Yes
None
No
No
No
No
No
No
Yes
No
No

Mental Alility 1

Group Number : 1
Group Id : 545927271
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability 1
Section Id : 545027271
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 545927325
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5459275455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& series is giverl with one term missing. Select the correct alternative from the given ones that will complete the
Series.

E100, GE1, Jo4, M4, ¢
Options:

1. % R25

2. % RI6

3. ¥ 538

4 % 525

Question Number : 1 Question Id : 5459275455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e Srgerd Team e &, Faed ¥ v ug gr 81 far vy et # 9 gy wEt Eewer gy, ST S @ m e

E100, G321, Jod, M43, ¢
Options:

1. % R25

2. % R36

3. ¥ 536

4 % 525

Question Number : 2 Question Id : 5459275456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A& series is given with one term rmissing. Select the correct alternative from the given ones that will complete the
Series.

M, SUN, URO, 7

Options:
1. % WP

2. % WOR
2% WOO
4. ¥ WOP

Question Number : 2 Question Id : 5459275456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T S foa T g, e & uw ug | 81 o o et | & 9 a5t Ewed g, S g O

QM SUN, RO, 7
Options:

1. % WOP

2. % WOR

3% WOD

4 ¥ WOP

Question Number : 3 Question Id : 5459275457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the giver words in the sequence in which they oCcur in the dicticnary.

1. DaAIRY
z. DaMP
= DWARF
4. DEAFT
S DREAIN

Options:

1.9 12452
2. % 12435
3. % 12534
4 % 12543

Question Number : 3 Question Id : 5459275457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafelaT deal 1 degmie § o7 a0 #7 & SRfaw ford

1. DAIRY
z. DaAMP
= DWARF
4. DEAFT
= DEAIN

Options:

1.9 12452
2. % 12435
3. % 12534
4 % 12543

Question Number : 4 Question Id : 5459275458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOR-'-.?iﬂg question, select the odd letter fletters from the Ziven alternatives.

Options:

1. % LJH
=z ¥ RFO
2. % DL
4 % TRFP



Question Number : 4 Question Id : 5459275458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TataT wg o fog 7y Heeat # & RBuw ey | st @t gliam
Options:

1. % LJH

2 ¥ RPO

2% DNLJ

4 % TRP

Question Number : 5 Question Id : 5459275459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOWiﬂg question, select the odd word from the given alternatives.

Options:

1. % Aye
2. % (Chisel
2. % Knife
4. ¥ Shoes

Question Number : 5 Question Id : 5459275459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e mg o fog 7y Seeat # 9 B geg @ g
Options:

1% grgret

2 % gt

3. % g
4. ¥ 9d

Question Number : 6 Question Id : 5459275460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four letters pairs are giverl. The letters on left side of {-) is related to the letters on the
right side of {-) with some Logic /Rule /Relation. Three are similar on basis of same Logic/Rule [Relation. Selact
the odd one out from the given alternatives.

Options:

1. % EE -UZ
= ¥ P5-JN
3% RO-K]
4 % L -EL

Question Number : 6 Question Id : 5459275460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

drifermrug ﬂﬁﬂﬂwﬂq (=) oF =Tt arie T T aryw (<) oF St anv T T arat wee o oreT o) e Heer
o HaTHd 5 o 7 FET T T | TR o ST O FHT g1 fo Ty fewent | & feu| @i gk

Options:
1. % BE-UZ
Z ¥ PS5 - N



3. % RO-KJ
4 % LG -EL

Question Number : 7 Question Id : 5459275461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related words from the given alternatives.

Animal ;- Eabbit o Stationery @ 7
Options:

1. % Write

2. % Author

2. ¥ Pen

4. % Black

Question Number : 7 Question Id : 5459275461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferaT wa # fon 7o et § & SehET aeal @ g

AT G GRET-|HuT 7
Options:

1. % fergr

2 ® FEw

3. ¥ wEn

4 % AT

Question Number : 8 Question Id : 5459275462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In1 the fOllOWiﬂg question, select the related word pair from the Zivern alternatives.

Doctor : Profession 07
Options:

1. % Colour : Red

= % Paper : White

2. ¥ Hexagon : Figure
4. % Figure : Big

Question Number : 8 Question Id : 5459275462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
P wa #f forg Ty ettt & & G seg g @t R

ETFe 0O 7
Options:

1. % a7 @

o, % FHT A
3. ¥ 9T A
4. % amFid: F=T



Question Number : 9 Question Id : 5459275463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related letters from the given alternatives.

EEGE : ADF] : PSVY . 7
Options:

1. % LOQT

2. % ROVE

2. % OTUZ

4. % ORUK

Question Number : 9 Question Id : 5459275463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FraimiET wa # T my foewedt o & detia arert w1 giam

BEGE - ADF] - PEVY . 7
Options:

1. % LOQT

2. % ROVE

2 % OTUZ

4. ¥ CORUXK

Question Number : 10 Question Id : 5459275464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘RAT’ is written as 78, ‘LAP is written as ‘58 What is the code for ‘'TEN' in that
code language?

Options:
1. %76
2. % 37
3. ¥ 78
4 % 39

Question Number : 10 Question Id : 5459275464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U e FE vy # RAT #1758 TRErAET e, LAP W58 oy AET 21 3 ®iE ANT H TEN' 7 %18 747 27
Options:

1. %76

2. % 37

3. ¥ 78

4 % 39

Question Number : 11 Question Id : 5459275465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘Red is heat’ is written as ip ta ka1, ‘Heat are worrn’ is written as ‘sp uk k', “wWorrm
are cold’ is written as ‘sp qm uk’. What is the code for ‘Red’ in that code language?



Options:

1. %ip

2. % ta

3. % km

4 ¥ iporta

Question Number : 11 Question Id : 5459275465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U e #E 9T # ‘Red is heat’ #1 ip ta ko W1 A@ET 2, ‘Heat are worn?’ F1 °sp uk ki @91 9197 § “Worm are
cold’ @ 'sp qm uk’ FETAETE | s FE 9T # ‘Red’ &7 &g 74T 57

Options:

1. % ip

2. % ta

2 % km

4 ¥ ip ATta

Question Number : 12 Question Id : 5459275466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a certain code language, "CHAIR' is written as ‘EJCKT’. What is the code for MANY in that code language?

Options:

1. % QOCPA
2. % OBEQA
2. % OEPA
4 % PCPE

Question Number : 12 Question Id : 5459275466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TAtE W vy # CHAIR 1 EJCKT TR AT 31 50 & 9T # MANY &7 #ig 747 57

Options:

1. % QOCFPA
2. % OBQA
= % OEFA
4 % PCPE

Question Number : 13 Question Id : 5459275467 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

&, B, C, D, E, Fand G are sitting round a circular table facing towards the center. Only & is between E and D
Cnly F is between B and <. B is second to the right of E. Who is sitting to the immediate right of E?

Options:
1. % E
2. %D
2% F
4 ¥ G



Question Number : 13 Question Id : 5459275467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

&, B, C, D, E, F TG the T &7 0 dich Uk ool o o So-111g &8 gU 31 E oW D F alfel § el & 31 B a0 C o affer #
e F 81 B, E & St oI g@w 51 E o 94 gl 1T & <87 37

Options:

1. % E

2. %D

3. %F

4 ¥ G

Question Number : 14 Question Id : 5459275468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Five persorn are standing in a row facing towards south. Cne of the two persons standing at the ends of the
rowr 15 A Scientist and the other is a Teacher. The Merchant is to right of the Teacher. The Doctor is standing
between the Scientist and the Model. If the Model and the Teacher interchange their positions, then who will be
towards the irmmediate right of the Model?

Options:

1. * Doctor
2. % Merchant
2. % Teacher

4. % Scientist

Question Number : 14 Question Id : 5459275468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TTT ST I T A mw%ﬁ@%ﬁ%ﬁﬁﬁm@égﬁwﬁﬁﬁwm%aﬂ?gﬂﬂﬂfﬁﬁaﬁﬁ%
o, Tt o gt ETFeT, RTINS A ATSA & s § T2T 51 Al ATSd a9 16yger =T #2079 0| H e ad o 5,
T WIS o qed gl K ®I- gIT?

Options:

1. ® ZTFad

2. & i

z % Tduw

4 % IATF

Question Number : 15 Question Id : 5459275469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

P i5 taller than O but shorter than . 5 15 shorter than Q. T 15 shorter than O but taller than 5.
Who 15 the third tallest?

Options:
1. %P
2. %S
A ]
4 % T

Question Number : 15 Question Id : 5459275469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



P, Q8 ey, fifd R TR 5, QU TRIg T, Q § FITIE, Wit S | & 5]
ﬁﬂﬂﬂﬂﬁﬁl‘ﬂfﬁﬁ%?

Options:
1. %P
R
A ]
4 % T

Question Number : 16 Question Id : 5459275470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

&, B, C, D, Eand F are six students. Among therr, E is taller than C. D is taller than B. E is shorter than F. & is
shorter than E. D is shorter than C. If the height of E is 156 cm, then which of the following cannot be the
heights of E and F respectively in cm?

Options:

1. % 134, 160
2. % 151, 154
2. % 150, 158

4 % 114, 172

Question Number : 16 Question Id : 5459275470 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A B CDE WRFRIFNITHAE CHAITI D, EF &aT %1E FHFETa A B
156 A1 2, 91 FEleiad # & 919 o #04 B 397 F & Saniat & . f 951 21 awd T &7

Options:

1. % 134, 160
2. % 151, 154
2. % 150, 158
4 % 114, 172

FTRTR D, C AT TRLE F1

Question Number : 17 Question Id : 5459275471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Five students &, B, C, Dand E study in a class. & and B study Eiology and Fhysics both. C and D study Biology
and Chernistry both. D and A study Mathernatics and Physics both. E and E study Botany and Zoology both, E
and D study Biology and Chernistry both. Which subject is studied by masxirnum number of students?

Options:

1. * Physics

2. % Chemistry
= ¥ Biology

4 % Mathematics

Question Number : 17 Question Id : 5459275471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TFFETH I T A, B, O, D AW E 14 71 & 3T E afdar o i@ 4 ugd 81 C oW D Siaider o e Bem =t
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Options:



1. % ofifaer
2. ¥ ore B
3. ¥ Sfiafder
4, % it

Question Number : 18 Question Id : 5459275472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Statermnents.

Staternents:
[. Some tables are chairs.
II. All chairs are pens.

Conclusions:
[. Some tables are pens.
II. All pens are chairs.

Options:

1. ¥ Cnly conclusion [ follow

2. % Only conclusion IT follow

2. % Both conclusion I and I follow

4. % MNeither conclusion follow

Question Number : 18 Question Id : 5459275472 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1t Tem My wer g w39 ag, 3 el T AT sy o T 9 T T et @Rt 6, T 99 9 A
Fert & TargaT g &t Fomand v offx o Frerffor @ or Tam o o6t & Tomard, T g vt o ammere ww gieaTa 2

CRupK

I FFAT T
II. &t T HeIH 2]

I. FelH
II.%W T2

Options:

1. el Tmepy 1 SIeeT #eaT &

2 % e fead 11 SIge aT g

3 % gl e I J9TIl SrgaRor @d 8
4 % g ot e argev ARl awar

Question Number : 19 Question Id : 5459275473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Statermnents.

Statermnents:

[ All penis are pencils.

I1. All pencils are cups.
III. Sorme cups are chairs.

COnclusions:

[. Some Chairs are pens.

I[I[. Somme pens are cups.

III. some pencils are chairs

Options:

1. ¥ Cnly conclusion 1T follow

2. % Both conclusion IT and T follow
2. % Only conclusion I follow

4. % MNeither conclusion follow

Question Number : 19 Question Id : 5459275473 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1t Tem My wer g w39 ag, 3 el T AT sy o T 9 T T et @Rt 6, T 99 9 A
Fert & TargaT g &t Fomand v offx o Frerffor @ or Tam o o6t & Tomard, T g vt o ammere ww gieaTa 2

el
1. Tt Faw U 2
I1. &t U 7 21

111, 3 &0 it gl

e

1. FF Fieal e 3

II. §F eIl &0

11 37 ufee i

Options:

1. il T ey 11 STeoT ®idr &

2 % gt Tmery 11 T2 111 Srge &d &
3. % el TeeRd 111 SIe HYar 5

4 % g ot Fwad ergev TRl aar

Question Number : 20 Question Id : 5459275474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following questiorn, select the missing number from the givern series.

7, 15,29, 59, 117, 7%
Options:

1. % 230

2 ¥ 235

3% 239

4 % 241



Question Number : 20 Question Id : 5459275474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TRt wag # 1 e siEe # 9 @O aiw 719 Hiem

7,15, 28,59, 117, 7

Options:
1. % 220
= ¥ 235
=% 2249
4. % 241
Mental Alality 2
Group Number : 2
Group Id: 545927272
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mertal Ability 2
Section Id : 545027272
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 545927326
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5459275475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOWiﬂg question, select the related rnurmber from the Ziven alternatives.

12:2210:15:7
Options:
1. % 3350



2. % 1340
3. ¥ 3390
4. % 1390

Question Number : 21 Question Id : 5459275475 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T W # T 7 feewedt § & Hele |ear w1 gia

122210157
Options:

1. % 3350

Z % 1340

3. ¢ 3390

4. % 1390

Question Number : 22 Question Id : 5459275476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the nurmber which can be placed at the sign of question mark (7 from the
given alternatives.

7 3| 1t
9 6 5
5 8 4
44 | 30| ?

Options:

1. % 50

> % 52

3. ¥ 49

4. % 47

Question Number : 22 Question Id : 5459275476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaeE ng # Ty W Tt 8 we ey (7) S 0T ST e ST @ e

Z 15|11
916 |5
5 8| 4
44 |1 30| ?

Options:

1. % 50

2 % 52

3. ¥ 49

4. % 47



Question Number : 23 Question Id : 5459275477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be placed at the sign of question mark (7) from the
Ziverl alternatives.

11i7 BIE

Sl-ﬁ

AE
|

Options:
1. % 4
> %5
3. %5
4 9 7

Question Number : 23 Question Id : 5459275477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T v | oy my fHwedt § & v B (7) & T T S aTet §EaT @1 g

11 | 7 8189 12 | 7

516 7|5 3 |2

Options:
1.% 4
2 %5
3% B
4 &7

Question Number : 24 Question Id : 5459275478 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If a*b*c = ab + bc, then what isthe valueof (¥4 *E) 4+ (2* 7 * 97
Options:

1.¥v 113

= % 1139

3% 202

4. % 209

Question Number : 24 Question Id : 5459275478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

iEarb*c =ab+bocd (3 *4 ¥ E)+(2* 7 * 9) FTHAA FAT &7
Options:

1.9 113

2 % 119

3. % 203

4. % 209



Question Number : 25 Question Id : 5459275479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four number pairs are given. The number on left side of (- is related to the number
on the right side of {-) with some Logic/Rule [Relation. Three are similar on basis of same Logic/Rule [Relation.
Select the odd one out from the given alternatives.

Options:

1. % 125 - 150
2. % 113-122
3.9 119-128
4 % 115 -140

Question Number : 25 Question Id : 5459275479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

el Ta T ey, T e g TR T 1 (<) o S ST S TS S (- jﬁ?@tﬁ@?ﬁﬂﬁﬂwﬁﬁmﬁﬁ;ﬁaﬁ el § Hatig
21 T FET e T Teram | Heler & S oY /AT g Ty ™y Eeedt o & B wt g

Options:
1. % 125 - 150

2 % 112 -122
2% 119- 128
4 % 115-140

Question Number : 26 Question Id : 5459275480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the missing nurmber from the given series.

13,17, 25,34, 681, 77, 7
Options:

1. % 140

Z ¥ 141

2% 151

4 % 152

Question Number : 26 Question Id : 5459275480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT ey # 21 T SfeT H & o S S R
13, 17, 25, 24,61, 77, 7

Options:

1. % 140

= ¥ 141

2. % 151

4 % 152

Question Number : 27 Question Id : 5459275481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the number which can be placed at the sign of question mark (7) from the
Ziverl alternatives.

3 6] 7160

B 5[ 11] 2

5| 4|38 |63
Options:

1. % 75

o % 105

3. % 85

4. ¢ 95

Question Number : 27 Question Id : 5459275481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e wg # o W Tt H 8 war ey (7) o T U ST STet ST

3 6 7 | 60

& 5 (11| ?

9 4 8 | 68

Options:
1. %75
2. % 105
3. % 55
4. % 95

Question Number : 28 Question Id : 5459275482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the following question, select the related nurmber from the given alternatives.

217642 139 518624 : 7
Options:

1. % 191

2. % 221

3% 231

4 ¥ 181

Question Number : 28 Question Id : 5459275482 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaimET v | o my Hwedt o & dete wear wf g

217642 129 518624 . 7
Options:
1. % 191



2. % 221
3. % 231
4. ¥ 161

Question Number : 29 Question Id : 5459275483 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the missing number from the given series.

2, 10, 30, 68, 7
Options:

1. % 115

= % 105

3. ¥ 130

4 #® 175

Question Number : 29 Question Id : 5459275483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT g # &7 T et H & oA S A e
2,10, 30, 858, 7

Options:

1. % 115

2 % 105

3. ¥ 130

4 % 175

Question Number : 30 Question Id : 5459275484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagrarn that best represents the relationship among the given classes.

Fose, Liotus, Flowear
Options:

(©)o
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Question Number : 30 Question Id : 5459275484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

% W -7 AT Al T T A o S o Helel W @Rl -0 AT A
TeATel, A, el

Options:

(©)o

4

4 &

Question Number : 31 Question Id : 5459275485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the given figure, how many professors are singers but not dancers?

Singers Profiessors

Dancers

Options:
1.v7

> #® 3
3 ® g
4 ® g



Question Number : 31 Question Id : 5459275485 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S ¢ et R wite T 2, s A g 2

Options:
1.¥7
2. % 3
3. %5
4 % 7

Question Number : 32 Question Id : 5459275486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Kishore walked 12 lm towards east from a point & After turning right he walked 9 km. Now he turned
towards west and walked 2 k. Finally he turned right and walked 9 km. How far is Kishore from point A7

Options:

1. ¥ 9km
2. % 1l4dkm
2% 13 km
4 % 15 km

Question Number : 32 Question Id : 5459275486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Teparte Oep el & & 12 Tep AT ol ot o7 =1t St g o are oy 9 T ot =iem a1l o uied o o1 g7 e 3 T At aem sl
% Sl S g7 a9 T dl e e g L & TR?

Options:

1.9 9 frdt
o, % 14 T
3 % 13 WA

4. % 15 fFpAn

Question Number : 33 Question Id : 5459275487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Eohit walks & km towards south. Then he wallks 9 ko towards north. He finally wallks 2 ko towards west, How
far (straight line distance) and in which direction is he now from his starting point?

Options:
1. % Elon, South-west
2. % 4 km, Morth-east



2. % C ln, North -west
4 % 4k, Morth-west

Question Number : 33 Question Id : 5459275487 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e Sl & & 5 Tor dt a5 T a5 © 190 AL 307 & oI aaaT 31 2fad: 95 uiay & 317 S TrdT aear 31 a8 sme e
Telg & arer Teper=it o (afreft ¥ar g off T Teram # 87

Options:

1. % 5 TFAr, Sigor-ukam
2 % 4TFdr, FW-Td

3. ¥ S TR A, Tae-uhem
4. % 4 T AT, FEC-UEaH

Question Number : 34 Question Id : 5459275488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following questiorn, select the figure which can be placed at the sign of question mark () from the given
alternatives,

Options:

<

M2
#

S B BIZ
R o B

M
8

A
X

P
bl

Question Number : 34 Question Id : 5459275488 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Traferad ma # o my ferweat § & wer fovg (7) & T O S It STgtd i g

L
L
8
L
L

Options:

1.9

J A

ON VN

2

A

YK X PIX

-
RN

Question Number : 35 Question Id : 5459275489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd figure from the given alternatives.

Options:

-_—
1 #

| |

7 < |
o W

el
=




O
-

Question Number : 35 Question Id : 5459275489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafeiET ne o fog My et & & fuw angfa =1 gl

Options:
—_—
1. %
o
A
o ®
O
)
3. v
O
<
4 ®

Question Number : 36 Question Id : 5459275490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the wrong figure from the given series.

M RJ|R AllA 5| M S5|IM R

5 AllM S|k M||A R||5 A

Options:
M R

1_%5 A




- M S
M R
2 % S A
M S
4 A R

Question Number : 36 Question Id : 5459275490 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T wer H, ST TR e B & e AT @ g

M RJIR Al|A 5|IM S| |M R

5 AllM S|k M||A R||5 A

Options:
M R
, %S A
R A
M S
o ®
A S
_ R M
M S
4 v A R

Question Number : 37 Question Id : 5459275491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



If a mirror is placed on the line AE, then which of the answer figures is the right image of the given figure?

A

® <O

Options:

OlA|®

Question Number : 37 Question Id : 5459275491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT e S T AR T U TET AN, T7&7 T8 FoX AFiaal § & R 67 S d W ST a1 Tl Wid felel gie
A

®(< |0

Options:

OlAl®




o

Question Number : 38 Question Id : 5459275492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a mirror is placed on the line AE, then which of the answer figures is the right image of the given figure?

Y/

=
X

Options:




Question Number : 38 Question Id : 5459275492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT T 2T T AR YT T T N, 9 S T 9 st i A e o gt e e A et w e gt

-
=

A~eooeeese B

Options:

Xl |w

e —

L NN
e

4 % 1=

Question Number : 39 Question Id : 5459275493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Howr miany triangles are in the given figure?



Options:
1. %6
=z w7
3. ¥ 3
4 % g

Question Number : 39 Question Id : 5459275493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o1 T el fora Pngw &0

Options:
1. %8
2 %7
3.9 3
4. % g

Question Number : 40 Question Id : 5459275494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Three positions of a dice are given below, What will corme opposite 1o the face Containing O

<> & <&
P B @

Question Number : 40 Question Id : 5459275494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et e ure @ A1 araed §F TR R (7 g Teleh o T R ST

1. ¥ K
2. % F



3.¥v D

4 # B
General Avwarenessl
Group Number : 3
Group Id : 545927273
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
General Awarenessl
Section Id : 545927273
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 545927327
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5459275495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following pair of state - dance styles is NOT correct?

Options:

1. ®* Rajasthan-Suisini

Z % Tamil Madu- Bharatanatyarm
2. ¥ Tripura- Raslila

4. % Punjab- Bhangra

Question Number : 41 Question Id : 5459275495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TafeiET & & v - o 3T @7 B9 J7 g A5 5l 87

Options:

1. ® Tea-HggienT



Question Number : 42 Question Id : 5459275496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 which city i5 the Kashi Vishwanath termple situated?

Options:

1. ® Chennai

= % Dehradun
2. ¥ Varanasi

4. % MNew Delhi

Question Number : 42 Question Id : 5459275496 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T e Afet o age # Te9m 27
Options:

1. % I

2. % dErgd
= ¥ gt

4. % F fawe

Question Number : 43 Question Id : 5459275497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The MNabakalebara festival is celebrated inthe ______ temple.
Options:

1. ¥ Jagannath

Z. # Kashi Yishwanath

3. ®* Meenakshi

4 % Konark

Question Number : 43 Question Id : 5459275497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TadeaY Ioad ______ Afex # AFT=T AT 8
Options:

1. & Fgrer

2. % et Eram

Z % dimst

4 ® g

Question Number : 44 Question Id : 5459275498 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hojagiri dance form is associated with which state?

Options:



1. ¥ Mizoram
= % Tripura

% % Jharkhand
4. % Tamil Nadu

Question Number : 44 Question Id : 5459275498 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST Je 7o T & FareT 27
Options:

1. ¥ firve
2. ¥ T
3. % mwEs

4 % FAAE

Question Number : 45 Question Id : 5459275499 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Il Interimm Budget 2019-20, the government has announdced formation of which new portal?

Options:

1. ® INew Artificial Portal

2. % National Science Portal

3. ¥ National Artificial Intelligence Portal
4. % MNational Technology Portal

Question Number : 45 Question Id : 5459275499 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR a9 2019-20 # @ar = o5 77 O e & mad & T & 87

Options:

IR ) i era e

2. ® Q94 9B A

% ¥ S ST (B IS S et Oiee
4 ® JgH TP G A

Question Number : 46 Question Id : 5459275500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following contributes to GDF?

[ Agriculture
II. Industries
III. Services

Options:
1. % [andIl

= ® [TandIlll
2 % [andIlI
4 %1 11 andIIl



Question Number : 46 Question Id : 5459275500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

g o & T S H A 4T 8?

1. T
11 F=m

111, €amd
Options:

1. % [ q97ll

2. % 1 qarlll
3% [ g9l
4. % 1 11 Forlll

Question Number : 47 Question Id : 5459275501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Annual Financial Statement, presented by government during budget is mandated under which article of the
constitution of India?

Options:
1. % Article 113

2 % Article 112
3% Article 110
4. % Article 114

Question Number : 47 Question Id : 5459275501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TAC F S TP /T e e Tehe 2T T YR & i o T e o 95d SIiard a7

Options:

1. % aregg 113
2 ¥ g 112
3. % argedg 110
4 % ardg 114

Question Number : 48 Question Id : 5459275502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In1 a test tube hydrochloric acid and phenclphthalein are present. When sodium hydrosxide solution is added
idrop by drop), what 15 the change in colour?

Options:

1. ® Pink to colourless
= ¥ Colourless to pink
2. % Pink to crange

4. * INochange in colour

Question Number : 48 Question Id : 5459275502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
wﬁaﬁﬁmmﬁﬁﬂm% el AIEaT §IEg1Ta5E T STl AT & (2l &% &), af a7 o F47



Options:

1. % T e

2. & FE & T

3. % et & et

4. % rd B uitad = g1 5

Question Number : 49 Question Id : 5459275503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following has a stream lined body?

I. Fish
II. Crab
III. Snail

Options:

1. % Crab

= % Snail

3. % Fish

4. % Crab and Fish

Question Number : 49 Question Id : 5459275503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETeTET # 9 T T AR g 87

1. AFAT
II. FFaT
111 o

Options:

1. % ST

2 % gfar

3. Tl

4, ¥ ST AT AFAT

Question Number : 50 Question Id : 5459275504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following are in motion?

I. The hands of a working wall cloclk,
II. The blades of a ceiling fan which is O

Options:

1. % Cnly I

2 % COnly 11

3. ¥ Both 1 and II

4 % MNeither I nor 11

Question Number : 50 Question Id : 5459275504 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



P A TR

1. o 0 T Tl ] Oat @1 gg
II. U =eld 30 U9 & &g

Options:

1. % Saal

o % e ll

. o ] garll 2Ft
4. % Ul ATAIIL

Question Number : 51 Question Id : 5459275505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sourness in tamarind 15 due to which acd?

Options:

1. % Tartaric acid
2 ® Citric acid

= % ascorbic acid

4. ¥ EBoth Tartaric and citric acid

Question Number : 51 Question Id : 5459275505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THGIT B W T a1 o PROTEIaT 57
Options:

1. & Tiefeer and

o ® fafew ame
3. ® UEmTGd o
4 ® grdfe ol Figer awer oAt

Question Number : 52 Question Id : 5459275506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AT O Fa0T e 7 AT O 4T 2% £17 27

Options:

1. % Jreedry

o ¥ anagary

3 ® ST U vedT g O] agdr g
4 % i lada A8t

Question Number : 52 Question Id : 5459275506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the effect of salt water on rusting?

Options:

1. ¥ Rusting decreases

2. ¥ Rusting increases

% % Rusting first decreases then increases

4. % No change



Question Number : 53 Question Id : 5459275507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Copper vessel acquires a green coating on exposure to moist air. Which of the following does coating contain?

Options:
1. % Cu504

2 CuCO,

3. % Cud
4. ® Cu,(OH)C0,

Question Number : 53 Question Id : 5459275507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T =8 T F Gudr H U9 o FET W wedT 5 e # i § & @4 gar a7
Options:

1. % Cu504

2. ¥ CuCo,

3. % Cuo
-
4. % Cu,OH),COy

Question Number : 54 Question Id : 5459275508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Leishmania reproduces by

Options:
1. % spore formation

2. ® fragmentation
2. % pudding

4. % binary fission

Question Number : 54 Question Id : 5459275508 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FIERTTT T T FAT 3

Options:

1. % Sy \ATEs
o % wWeq

3. ® gged

4. TEmEea

Question Number : 55 Question Id : 5459275509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which part of human eve controls the size of pupil?

Options:
1. # Cornea
2 % Iris



2. % Retina

4. % Aqueous Hurmour

Question Number : 55 Question Id : 5459275509 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HTAE o & B T GEar Q! o TN ® W= #eal g7

Options:
1. ® wow A=A
o o ghrgTiesT

3. % giewed
4 % 9318

Question Number : 56 Question Id : 5459275510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Soil formation primarily depends on

Options:

1. # yolcanoes
= % clouds

3. ¥ weathering

4 % rainfall

Question Number : 56 Question Id : 5459275510 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
wel @ FHi gEg e Tt e 3

Options:

1. % wamergEr
2. % ged

3. ¥ s
4 % Fuf

Question Number : 57 Question Id : 5459275511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
15 also knowrl as TIsara’ soil.

Options:

1. # Alluvial soil
= ¥ Saline soil
2. * Red soil

4 % Laterite soil

Question Number : 57 Question Id : 5459275511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FFEART BT & AT & AT T 7T 8
Options:

1. % Felig gar



2. ¥ o gar
3. % e gar
4, % FEETET Har

Question Number : 58 Question Id : 5459275512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
daeeiT g TETEat & Tewad T 8l

Options:

1. v Traw
= ® TR
3. % ST
4. ¥ @

Question Number : 58 Question Id : 5459275512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Yaitarna river rises frorm hills.

Options:
1. ¥ Trimbak

2. % Rajmahal
3. % Javadi

4. % Nilgiri

Question Number : 59 Question Id : 5459275513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Furvanchal cormprises of which of the following hills?

[. Patlkai
II. Naga
III. Manipur

Options:

1. ¥ landll

Z % LandIII
3. % [TandIll

4. % 1,11 and III

Question Number : 59 Question Id : 5459275513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tatad # T § & 19 o agrigar it g7
G S

I1. =T

111 A

Options:
1. % [ qerll
= % 1 99Tl

3. % 11 9Tl



4. 1, 11 q9r1Il

Question Number : 60 Question Id : 5459275514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Mational Food Security Mission was launched in India to enhance the production of which of the fOllDWiﬂg

Cropsy
Options:
1. % Cotton

2% Jowar
= % Pulses
4. ® Dilseeds

Question Number : 60 Question Id : 5459275514 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafeaT § & o w0 @1 Soume s & o and § T8 @Ter qea e o T e ane

Options:

1. % @
2. % T
3 ¥ O
4. % fgaga

eneral Avwarenessz

Group Number : 4
Group Id: 545927274
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessz

Section Id : 545927274
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20

Section Marks: 20
Display Number Panel: Yes
Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 545927328
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5459275515 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ are surfaces marking old valley floors.

Options:

1. % River terraces
Z % Alluvial fans
3. # Meanders

4. % Potholes

Question Number : 61 Question Id : 5459275515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ T et Tl @ qaf B Digd #dT g
Options:

1. ¢ et ]

o ® FAgUE

= ® fead

4 % FFTITHT

Question Number : 62 Question Id : 5459275516 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In 1877, which Viceroy organized a ‘Durbar’ to acknowledge Gueen Victoria as Empress of India?

Options:

1. ¥ Lord Mayo

= % Lord Lytton

3. % Sir John Lawrence

4. % Lord Ripon

Question Number : 62 Question Id : 5459275516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1877 H o5 I e = AERTHT a2 10T &1 9T &1 AERHT & & § T Fe- & o0 'SEa &7 S Taa ar?

Options:

1. ® Fi2 a4

o ¥ w2 e
Z. ® @A AR
4 ® 72 oo

Question Number : 63 Question Id : 5459275517 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wood's Despatch was 15sued in which year?
Options:

1. ¥ 1859



2. % 1759
3. % 1754
4 ¥ 1854

Question Number : 63 Question Id : 5459275517 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
= Teeia Tomg ad | ST o = a?

Options:

1. # 1859
= % 1759
3. % 1754
4 ¥ 1854

Question Number : 64 Question Id : 5459275518 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who among the following looted temples of India?
Options:

1. % Mahrmud Ghazni

2. % Shah Jahan
3. % Qutbuddin Aibalk
4 % Iltutrnish

Question Number : 64 Question Id : 5459275518 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt # & R W & whl # )
Options:

1.« mgge AT

= % amEeEm
3. ® Fgee U
4 % gegarHa

Question Number : 65 Question Id : 5459275519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In medieval India, "Jital’ and ‘Dang’ were types of

Options:
1. * army rank

2. % tools
3. ® weapons

4 % coins

Question Number : 65 Question Id : 5459275519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HeTHTe- 9RT |, e o =i & W 4

Options:



1. % gTerog
2. % gt

= % Mt

4. Tagt

Question Number : 66 Question Id : 5459275520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following Act established Eoard of Control?

Options:

1. % Pitt’'s India Act
2. % Regulating Act
3. % Press Act

4. # MNewspapers Act

Question Number : 66 Question Id : 5459275520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TafaiET 7 9 Ty« (e & erT aig ATE S ie ST T ey
Options:

1. foge gizar uae

2 % Ot uEe

3 % U

4. % HHAEN 4T Tae

Question Number : 67 Question Id : 5459275521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which act abolished the Eritish East India Company’s monopoly of trade except with China?

Options:

1. % Charter Act of 18132

2. % Regulating Actof 1773
3. % Charter Act of 1354

4 % Charter Act of 1335

Question Number : 67 Question Id : 5459275521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tepey arfarfrem = = o sr@Ta Eies e SiEam SuT SO & TeRTTEIeT T TATH § foar 17
Options:

1.9 1813 wraey a9

2. % 1773 @ &i=aee afdiam

3. ® 1854 FTTR AT

4 # 1535 W atEtaay

Question Number : 68 Question Id : 5459275522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arjuna Award is given for outstanding performarnce in



Options:

1. ¥ singing
= ¥ sports
2. % acting

4. % pravery

Question Number : 68 Question Id : 5459275522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ o oo Wl & T il qrew R T ST &)
Options:

1. % T

2 ¥ HF

2 ® arfim

4 % T

Question Number : 69 Question Id : 5459275523 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The book "All the Mames They Used for God" is written by ______ .
Options:

1. # Armish Tripathi

= ¥ Anjali Sachdeva

2. % Durjoy Datta

4. % Chetan Bhagat

Question Number : 69 Question Id : 5459275523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT A S e B e JFad ______ LG RIS
Options:

1. % ardtar FoTst

2 ¥ st dedar

2. % g E

4 ® g7

Question Number : 70 Question Id : 5459275524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Headquarter of World Bank is located in ______.
Options:

1. % United States

= % Switzerland

2. % Japan

4. % China

Question Number : 70 Question Id : 5459275524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Options:

1. ¥ T T it
2 % T

3. ¥ Fmue

4. % e

Question Number : 71 Question Id : 5459275525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In1 March 2013, which banl: has been awarded with Best BEanl: award by Tarmil Madu?

Options:

1. % Bank of Baroda

2. % Andhra Bank

2. ¥ Indian Bank

4. % State Bank of India

Question Number : 71 Question Id : 5459275525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ARl 2019 ® 5w #1 THEATg SR J9HE dF [ | ST T T 87

Options:

1. ® dF ATE F=1ar
o % el dw

3. ¥ EiETm T

4 % gRAF T AT

Question Number : 72 Question Id : 5459275526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which cricket player has been awarded with the title of Knighthood in 20197

Options:

1. % Kane williamson
2. % Ben Stokes

3. ¥ Alastair Cook

4. % Virat Kohli

Question Number : 72 Question Id : 5459275526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Toprer Topche TERTTST T 2019 H ATEcgs & JUTrer § FemTia fora mar g7

Options:
1. % ¥ EferamraT

2 ® gaEEEd
3. Ul §F
4. ® [T FIGAT

Question Number : 73 Question Id : 5459275527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
[SEO has planned a rrission o

Options:
1. # Mars

2 % Yernus
3. % Jupiter
4 % Moor

Question Number : 73 Question Id : 5459275527 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR 2023 H T U e T T a1

Options:

1. % fme
2 ¥ q®

3. ® gl
4. % ZEAT

Question Number : 74 Question Id : 5459275528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
President exercises his powers on the advice of

Options:
1. # ¥ire Presidernt

2. ¥ Council of Ministers
3. ® Cabinet Secretary
4. # Army Chief

Question Number : 74 Question Id : 5459275528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e T FATE U AT St T W AT gl

Options:

1. % ot

2. HHmig

2 % Pi-T Haedl
4, ¥ IAEAAT eIy

Question Number : 75 Question Id : 5459275529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who constitutes Finance Corrurission?

Options:

1. % Wice President
2. ¥ President

3. % Prime Minister

4 % Chief Minister



Question Number : 75 Question Id : 5459275529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TErT &T2IITT T & @19 T 57

Options:

1. % gorrenid
=, o T
SRR DICHE

4 ® gegadt

Question Number : 76 Question Id : 5459275530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Yoting age was reduced fromz1t0 18 vears through which Arnendrment Act of Indian constitution?

Options:

1. % S0th
2. % B6th
3. ¥ Blst
4 % GEth

Question Number : 76 Question Id : 5459275530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
W 17 Hlerer & T Faterd Srfer=ea & Fd Oaar &1 omg 21 & aee 18 o &f 115 &f?

Options:

1. % 50ar
o % gear
3 ¥ g1ar
4, % Sear

Question Number : 77 Question Id : 5459275531 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who among the following are part of Electoral College for elections of President?

I. Elacted members of Lok Sabha
II. Elected mermbers of Rajya Sabha
I1I. Elected members of Legislative Asserrnbly of state

Options:
1. % Tandll

2. % Ilandlll
2% [landl!
4. %1, 11 and III

Question Number : 77 Question Id : 5459275531 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



FfaiTas & & 9 T % 5T & Ty et Aee o RedT g

1. AT o Haig g2
11, T=aeT & Haie ageT
111, Y=g @ feheme Oor & Tt aeed

Options:

1. % 199l

2. % 11 qerll
2. % 111 9l

4. %1, 11 gemlll

Question Number : 78 Question Id : 5459275532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who became the world's first fermale plaver to win & gold medals in the World Championship of boxing™?

Options:

1. % Mary Kom
2. ® Laila Al

3. # Katie Tavlor
4. % Ann wolfe

Question Number : 78 Question Id : 5459275532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o gt STy § 6 €aut 0w Sia - aTel ford 1 Uge! Al [Eals! 1 adi?

Options:

1.« I
2 ® TR aTEl
3 ® e iE

4 ® T IE

Question Number : 79 Question Id : 5459275533 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Who is the first Indian plaver to 5Core a century in wornen T 20 circket?

Options:

1. # Mithali Baj

Z. % Srriti Mandhana
2. % Poonam Yadawv

4. ¥ Harmanprest Kaur

Question Number : 79 Question Id : 5459275533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATEAT &1 20 # Sk e aTeil Tgall AId 1 ATSAT Thehet @i 57

Options:
1. ® et o

2. % i AT
3. A e



4, & AT FE

Question Number : 80 Question Id : 5459275534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ vwas awarded Rajiv Gandhi Khel Ratna 2012 in field of Cricket,

Options:

1. ¥ Virat Kohli

2. % Mahendra Singh Dhori
3. % Rohit Sharma

4. % Hardik Pandya

Question Number : 80 Question Id : 5459275534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ w1 Topehe o & H 2018 H Tt Tt @7 T & SFATT TR T 9m

Options:
1. T s
2. ¥ meg g ey
3 % AR awt
4. % gife ve
Arithmetic Abilityl
Group Number : 5
Group Id : 545927275
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithrmetic Ability1
Section Id : 545927275
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 545927329
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5459275535 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Evaluate:

+y)y =7
Options:

1. ¥ 5% +§.r2 +Zuy
= w xz—?z—Exy
3% 2x+ 2y + Cuy
4. % x4+ v+ 2uy

Question Number : 81 Question Id : 5459275535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T e e

G +7)° =7

Options:

1. v %%+ 5?2 +2uy

2 % 3% _y?_ouy

3% 2%+ 2v + Zuy

4 % uw4+v 4+ Zuy

Question Number : 82 Question Id : 5459275536 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
34¥¥ is a four digit nurmber which is divisible by 9. Wwhat is the value of X7

Options:
1.¥1
= %3
3. %3
4 % 2

Question Number : 82 Question Id : 5459275536 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S4HY UF T ST & EET E A 9 | S 8 K F W F a7 57

Options:
1.91
2. %3
3. %9
4 % 2



Question Number : 83 Question Id : 5459275537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many numbers are there from 72 to 200 which are divisible by both 2 and 77

Options:
1.% 3
2 % 12
3.¥ 11
4 % 10

Question Number : 83 Question Id : 5459275537 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
72 ¥ 300 T% UE fraT S 5 S 2 T4 7 S F EWea gt e

Options:
1.% 3
Z w12
3. ¥ 11
4. % 10

Question Number : 84 Question Id : 5459275538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many even nurmbers are there from 1 to 347 which are divisible by 77

Options:
1.9 24
2 % 23
3 % 21
4 % 22

Question Number : 84 Question Id : 5459275538 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1 & 347 IF a1 97 9Eq10 2 A7 7 F [S¥e=a 87

Options:
1.9 24
= % 23
3. % 21
4. % 22

Question Number : 85 Question Id : 5459275539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[ I | 1 1 1
What is the value of —+—+ —+ —+—+—2
2 & A2 30 AL 5h
Options:
1. % 11715

2 % 13)20



I3 % 21040
4 ¥ 3340

Question Number : 85 Question Id : 5459275539 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1.1 . 11 1 1 1
+—+

=Tl M SN = T
276 1273022 T3¢ T FI T §?

Options:
1. % 11/15
= % 13/20
3 % 21740
4. ¥ 33/40

Question Number : 86 Question Id : 5459275540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IfA= —l—i—i and B = l+i+L then what is the value of B — A?
3 35 99 15 63 143

Options:

1. % 2711

2 ¥ 5113

. % 49

4 % 511

Question Number : 86 Question Id : 5459275540 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

I A
Ilﬁ'A='%';—5'éFl'iﬂ'B =E+E+E§',T—ITB-A$I'IH?I'WT§'?
Options:

1. % 2711

2 ¥ 513
3 % 419
4 % 511

Question Number : 87 Question Id : 5459275541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1 1 1

+ + 2
=3x8 Ix8xT S5xTx9

What is the value of

Options:

1. % gyo7
2 % 2(33
3 % 427



4. ¥ 563

Question Number : 87 Question Id : 5459275541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1 1 1

+ +
1x3%5 3x85xT 5H5xTx9

FT AT &7 22

Options:
1. ¥ 527
= % 2[23
3 % 4127
4 ¥ 5[E3

Question Number : 88 Question Id : 5459275542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ummjgmewmwuf72+]E+ﬁ+3x2+5+25x5+25?
24 -8 +8-4x3+5x25-10

Options:

1.9 20113100
2. % 11172300
3. % 15313100
4, ® 14712600

Question Number : 88 Question Id : 5459275542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2+1846+-3x2+5+-25x5+25
24 +8+8+4x3+5x25-10

FT AT FT 22

Options:

1.9 20113100
Z % 111}2900
3. % 15313100
4. % 14712600

Question Number : 89 Question Id : 5459275543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Howr many four digit nurnbers are there which whern divided by &, 5 and 4 leaves remainder 1 in each case?
Options:

1. % 148

2 % 149

3. ¥ 150

4 % 151



Question Number : 89 Question Id : 5459275543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o ST @1 U6l rdAl GEam 5, 91 6, 5 79T 4 & T @ O Uoder o § J0ha 1 3117
Options:

1. % 148

2. % 1449

3.9 150

4 % 151

Question Number : 90 Question Id : 5459275544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[fh =B +3x24+5-2+dx2andE=5x2 +8x5-4 <2 %5, then what is the value of & - B?

Options:

Question Number : 90 Question Id : 5459275544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oA =63 X2+5-2-4x2TNME=5x2-8x5-4=2x5% 1A -EFAATFATE?
Options:

Question Number : 91 Question Id : 5459275545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

An article is sold at a discount of 20%. If the marked price of the article is Bs 1300, then what will be the
selling price of the article?

Options:

1. ¥ Rs 910
2. % Hs 3240
2. % Rs 790
4 % Rs 870

Question Number : 91 Question Id : 5459275545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T g 1 0% H TE O &1 T 21 Tig, aeg & sifchd Grd 1300 $0 g, a1 aeg &7 fdwd Ged 7 57
Options:

1.9 910w

2. % 390 7

3 ® Fo0 wEr



4 ® 370 w0

Question Number : 92 Question Id : 5459275546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What will be the net discount on giving two successive discourts of 2E% and 20%?

Options:

1. ¥ 43 percent
2. % 52 percent
I. % 5E percent
4. % BE percent

Question Number : 92 Question Id : 5459275546 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
35% TAT 20% T T FIHF T¢ o W T () T FT g7

Options:

1. % 48 nideT
2. % SoudaT
3. % oS Oidea

4, % &5 gidad

Question Number : 93 Question Id : 5459275547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ratio of marked price to cost price is 9 7. If the cost price is Bs 161 and 10% discount is offered, then
what will be the selling price?

Options:

1. % Rs196.1
2 ¥ R3s 1863
3. % Rz 1874

4 % Rs5 1786

Question Number : 93 Question Id : 5459275547 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST e & 4 Urd  STJUTT 9 ¢ 7 391G e T 161 30 § 90T 10% 1 g2 of T g, a1 o wmer wram gime

Options:

1. % 1961 ¥4
2. ¥ 1863 70
3 % 187 470

4 ® 1786w

Question Number : 94 Question Id : 5459275548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the price of wheat is reduced by 14 22% then it becomes Bs 272, What is the initial price of sugar?
Options:

1. % Rs504



2. % Hs 461l
3 * REsE=1
4. ¥ Rs 441

Question Number : 94 Question Id : 5459275548 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT T o Hodl 1 14.28% 9 UEET T g, 91 95 378 T 51 AW 51 7F W7 ST Hd F4T 57

Options:

1. % 504
2 % 451 =
3. % 531w
4. ¥ 441 =t

Question Number : 95 Question Id : 5459275549 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Radius of a hemisphere is increased by 20% What will be the percentage increase in its curved surface area?

Options:

1. % B2 percent
2. % § percent
2. % B7 percent
4. % 59 percent

Question Number : 95 Question Id : 5459275549 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T arediet # ST 20% & 93l T 81 S 9w T A% § e uide & ghy g

Options:

1. % 62 Wigew
2 % g gidea
3. % 57 WideE
4. ¥ 69 uiduT

Question Number : 96 Question Id : 5459275550 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The monthly income of a person is Rs 25000 and his monthly expenditure is Rs 15000, Next vear his monthly
income increases by 40% and his rmonthly expenditure decreases by 70% What is the percentage increase i
his sarings?

Options:

1. % 125%

2. 0% 127.5%
3% 130%
4. ¥ 122 5%

Question Number : 96 Question Id : 5459275550 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T ST o AT ST 35000 F03 5 997 T ATe® o0d 15000 704 5 | STer I Jee! ATEE d1 40% & &% A9 7 5 397
IO AT =0 7O0% & TH 57 AT 51 S0@! a=id H [ra Nidard & Jhe 55 57

Options:

1. % 125%
2. % 1275%
2% 130%
4 ¥ 1272 5%

Question Number : 97 Question Id : 5459275551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selling price of an article is Rs 1620, If the loss percentage is 25%, then what is the cost price of the article?

Options:

1. % REs 1940
2. % Rs 2080
2. ¥ Rs 2240

4. % Hs 2460

Question Number : 97 Question Id : 5459275551 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e Teq, T T Tedr 1680 #0d §1 iy g1ie uiderd 25% §, I7 o o7 % grd 7471 57

Options:

1. % 1940 30
2. ® 2080 T
3 ¥ 2240 T
4, ® 2460 T

Question Number : 98 Question Id : 5459275552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TR &1 1500 20 H sha- U8 T0 1 40% FT g1 5T 81 35% F1T UTH F & o] 38 TR & 1o G UF sie-T dig?

Options:
1. % 3225 e

= ¥ 3045 w0
3 & 3375 w0
4 ¥ 3125w

Question Number : 98 Question Id : 5459275552 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev selling a tyre for s 1500 Raman looses 40%. At what price should he sell the tyre to gain 25%7

Options:

1. % Rs 3225
2. % Rs 3045
3. % Rs 3375
4 % Rs 3125



Question Number : 99 Question Id : 5459275553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Aman sells an article to Eharat at a profit of 15% and Eharat sells it to Chetan at a loss of 20%. [f Chetan pays
Es 736, then what was the cost price for Arman?

Options:

1. % Es 300
2. % Rs 850
2. % Rs 7E50

4. % Hs 3900

Question Number : 99 Question Id : 5459275553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A, T BT 15% & o0 U Uk o o & a2l 9d 36 Da &1 20% &1 g1 0T o=dT 81 Al oad, 736 20 a8, 97 afd &
GrETE e R

Options:

1.9 500 ¥
2. % 550 w
3. % 750w

4 # 900 w0

Question Number : 100 Question Id : 5459275554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If¥1:¥2 =2:5and ¥1 +¥Z = 40, then what is the value of ¥Z7

Options:
1. % 15
2. % 20
3. ¥ 25
4 % 30

Question Number : 100 Question Id : 5459275554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A1 X2 =3 :STATEL + X2 = 40§ TTE2 FTHH FAT 57

Options:
1. % 1%
2. % 20
3. ¥ 25
4 % 30
Arithrmetic Ability2
Group Number : 6
Group ld: 545927276
Group Maximum Duration : 0
Group Minimum Duration : 0

Revisit allowed for view? : No



Revisit allowed for edit? : No

Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithrmetic Alality2

Section Id : 545927276

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927330
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5459275555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The ratio of the three numbers is 2 : 3 1 and the surn of their square is 224, What is the value of the smallest
number of the three numbers?

Options:
1. %8
2. %5
2V 4
4 ® 2

Question Number : 101 Question Id : 5459275555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A1 el W SUTE 2 0 3 0 1§ FT 3 ATt @ A 224 81 Fi41 aenet § 8 qad ST 6% ® 01 F497 57

Options:
1. %8
2. % B
2V 4
4 % 2

Question Number : 102 Question Id : 5459275556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Rarm and Shyam started a business by investing in the ratio of 2 : 2. After 4 months, Ram withdrew his
investment. If they receive profits in ratio of 1 : €, then for how many months was Shyam in the business?

Options:



1. ® 12 months
= % 14 months
3. % 18 months
4. % 16 months

Question Number : 102 Question Id : 5459275556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TT S0, 2 0 3 3 T H Tehar @eh e s ST ot gl 4 ARl Wartd, T e Mg Fam sar g ai Se 1 6 &
SUTd H W WIH g, T S fohd= AR a@ o0 | 17

Options:

1. % 1279
2 % 14mH
3 % 1w
4 ¥ 16w

Question Number : 103 Question Id : 5459275557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Es 9000 are kept at sirnple interast. If the rate of interest is 12% per annurm, then what is the interest after 4
VEArs?

Options:

1. % Es 4240
2. % Rs 4180
3. ¥ Es 43220
4. % Rs 4840

Question Number : 103 Question 1d : 5459275557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Q000 T FT AT 24T 0T TG TN TS o2 &1 2f 12% 0id a1 &, 97 4 T8 o7, =47 Terd=1T 577

Options:
1. % 4240 w3

= ® 4180 w0
S & 4320 w0
4 ® 4540 U

Question Number : 104 Question Id : 5459275558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Es 15000 becomes Es 20400 in 2 vears when kept at sirnple interest, Howe rmach will it becomes in ¥ years?y

Options:
1. # Rs 2EZ00

2. ¥ Rs 276800
3. % Rs 25400
4. % Rs 28200

Question Number : 104 Question 1d : 5459275558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
TR &7 0T ¥& 9= 0 15000 0 3 a9 § 20400 704 51 A6 81 95 7 a0 § o= g1 Fmn?

Options:

1. % 26800 70
o ¥ 27E00 T
3. % 25400 w0

4 ¥ 25200 w7

Question Number : 105 Question Id : 5459275559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cornpound interest on a certain sum of money for 2 yvears at a rate of r% per annum is Rs 3870, Simple
interest on the same sum at the same rate for 2 years is Rs 2600, What is the value of r?

Options:

1. % 15 percent
2. % 12 percent
3. % 1 percent
4 % 18 percent

Question Number : 105 Question Id : 5459275559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T eFeTia OF v Ui o S S 2 O W Add g w2 S870 T 51 JET 2RI UT JHT S 2 A @ Grem w40
600 T 8 ¢ F A FATE7

Options:

1. 15 nfdsm
o ® 12T
3 % 1 e
4. % 18 uideT

Question Number : 106 Question Id : 5459275560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The speed of a boat in upstream and downstream is 20 km/hr and 28 kmhr respectively. What is the speed
of boat in still water?

Options:

1. % 22 km/hr
= ¥ 24 lanfhr
2% 20km/hr
4 % 18 km/hr

Question Number : 106 Question Id : 5459275560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AT &1 TTia €T oF Hid gt a7 &R o STJdrel Har 20 T A (02T 99T 28 T d (92T 81 78] e | 19 &1 111 47 87

Options:

1. % 22 fp o ger
o ¥ 24 AT e
= % 20 WA T



4. % 13 fp T rueT

Question Number : 107 Question Id : 5459275561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& oy covers one - fourth of the journey at the speed of 25 km/hr and the rest at the speed of 60 km/hr. If he
travels for 9 hours, then for how many hours he has travelled at the speed of 25 km/hr?

Options:

1. % Z hours
2. % G hours
2. ¥ 4 hours

4. % 5 hours

Question Number : 107 Question 1d : 5459275561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T AS T U - TTE IET 25 T 61 =eT & Wi & 320 49 60 Top At T & id ' 99 FwaT 5 Iie g% 9 U & oy a3 awar |,
T I 25 T A wET F i & e e O &y

Options:

1. % zwe
2 % gHr
3 ¥4
4 ® oHr

Question Number : 108 Question Id : 5459275562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& sports car travels 16 krn, 40 km, 60 kmand 120 km at speeds of 22 km/hr, 8 km/hr, 120 km/hr and 40
krnj/hr respectively. What is the average speed of the sports car?

Options:

1.9 28.2 kmjfhr
2. % 224 kmfhr
2% 286 km/fhr

4 % 328 kmjhr

Question Number : 108 Question Id : 5459275562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U Ol & 16 TR AT, 40 T AT, 60 T AT For 120 fr At & S0 @ 22 MRt e 8 At e 120 TRt jueT Ju
40 Top HY, 9T T T & AT T B wied e by it i o 8

Options:

1.9 26.2 T AL fu=T

2 % 204 TEAEeT

3. % 2856 Tr At e
/

4 # 32 5 W jEeT

Question Number : 109 Question Id : 5459275563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Suresh alone can complete a work in 50 days. Mahesh alone can complete the same work in 20 days. If they
together complete the work and get Ks 49000, then what is the share of Suresh?

Options:

1. % Es 14000
2. % Rs 25000
2. % Rs 21000
4 % Rs ZE000

Question Number : 109 Question Id : 5459275563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
L AT U F1 w1 50 ﬁ?ﬁaﬁm%nﬁ:ﬂaﬂmrﬂ:ﬁmaﬁzo T o o | 81 Tig of THAw T Q1 Fd § T 3
43000 70 0w §, T7 G 7 Tedr F47 &-

Options:

1.9 14000 703
o % 35000 T
3 % 21000 70

4 ¥ 25000 T

Question Number : 110 Question Id : 5459275564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

X1 and X2 can complete a work in 60 days, K2 and X3 can complete the sarme work in 24 days X1 and X3 can
corrplete the same work in 24 days. [ how many days can X1, X2 and X2 together complate the sarme worlk?

Options:

1. % 15 days
2. % 10days
2. % 20davs
4 % 18days

Question Number : 110 Question Id : 5459275564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

X1 TTEE U FE @ 60 T 7 T 3 G 3 X1 T X2 JHT @ @ 24 T | @ 9 9 81 X1 T XS 39T @ @1 24
AT @ awd 81 K1, X2 J9T X3 FET w1 i Tra fom o T o a9 27

Options:

1. % 15f=
o % 10T
3 ¥ 20T
4 % 18f"

Question Number : 111 Question Id : 5459275565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Manav alone can do a work in 24 days and Rohit alone can do the sarme work in 48 days. They both started
working together but Rohit left 3 days before the completion of work. For how many days did Manay do the
Tk

Options:
1. % 1t days
2. % 17 days



2. % 16 days
4 % 14 days

Question Number : 111 Question Id : 5459275565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT ST U T 1 24 T o Far & a9 UiEd ST S61 #18 ® 48 T 0 aa1 81 o SF1 UF G5 & 4% B 5 ol
T @ W giH o 3 T uget @ g1 o1 81 O o e e o o @ T

Options:

1. % 15f27
o ¥ 17 T
3 % 16TT
4 % 14f7

Question Number : 112 Question Id : 5459275566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The perimeter of a rectangle is 14 crm. If the diagonal of the rectangle is & cm, then what is the area of the
rectangle?

Options:

1 & 12 cm?

5 % 14 cm?

5 % 16 cm?

4 % 10 cm?

Question Number : 112 Question Id : 5459275566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
T T3 &1 THT 14 #AT 51 e =T & i S 98T 5, I7 =T &7 836 F47 57

Options:

| & 12 q.H2

L o 14 WAL

S w16 WA

4 w 10§

Question Number : 113 Question 1d : 5459275567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The sum of length, breadth and height of a cuboid is 68 cm. If length is 272 of breadth and height is 7 /4 of
length, then what is the total surface area of the cuboid?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1372 cm?
1.

5 1664 cm?

2 1504 cm-

4 1468 cm?

Question Number : 113 Question Id : 5459275567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T W1 AT, diele a0l ST ® AS 68 €Al 81 97 /s, diSE #1223 a9 AR, A & 7 )4 8, T oA §d
T ST T B7

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

. 1372 4.H.2
. 1664 T.H.2

5 1504 A2

4 1468 A2

Question Number : 114 Question Id : 5459275568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The radius of a sphere 135 2.1 cm. What 15 the cost of painting
the curved surface area of the sphere at the rate of Rs 85 per

19

Cin

Options:
1. # R5 3948.8

2. % Rs 41626
3. % Rs 4516.2
4 ¥ Rs4712.4

Question Number : 114 Question Id : 5459275568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Uk ATl & TF=ar 2.1 & #1185 v ofa &l &
gl ¥ el & o IfaT 8 e @ {9 & Hed &7 57
Options:

1. % 39468 w0

2 % 41626 ¥

3. % 45162 ¥

4 & 4712 4 w0

Question Number : 115 Question Id : 5459275569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The pie chiart given below shows the number of shirts of different colours in a ward robe. The number is
showt as a percentage of total shirts in the ward robe.

" Black Red,
4% 20% \

Bluﬂ 'i'ﬂ'lt'lﬁ.

26% o

If the total number of shirts in the ward robe are 3800, then how many red shirts are less than blue shirts?
Options:

1. % Z210

= ¥ 216

3 % 222

4. ® 228

Question Number : 115 Question Id : 5459275569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



:ﬁfﬁ%mngqa%awmﬁﬁﬁﬁqhﬁﬁﬁﬁﬁﬁwaﬁamﬁ ET BT AR H Tl FHAT o Widad & &7 H
Zartar T

/ /m m\\
[ 24w | 2% )
.'*—-——___/
\25'.:;. m%/ .

AT STEATT # WAL ST 3500 §, F1 T wHE, AT S O R we e
Options:

1. % 210

2. ¥ 216

3 % opp

4 # 225

Question Number : 116 Question Id : 5459275570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The table given below shows the salary of various employees working in a company.

Employee | Salary
El 50000
E2 60000
E3 55000
E4 52000
ES 56000
E6 62000

The salary of employee EE is how much percent more than the salary of employee E27
Options:

1. % 3.33 percentage

2. ® 4 33 percentage

% % 5 33 percentage

4. # § 33 percentage

Question Number : 116 Question Id : 5459275570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



e 1 I ATicieT e Ut H @ o g [Ty wHait & O @ aidt 8

FAON | AGq

El 50000

E2 60000

E3 55000

E4 52000

ES 56000

E6 62000
T EG W ofdd fHa E2 F a4 & fra nidaa arfe 27
Options:
1. ¢ 333y

> ¥ 433 UdeT
= ¥ .3z
4 ® g 33 UldaT

Question Number : 117 Question Id : 5459275571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The table given below shows the number of clocks sold of different companies.

Company | Number of
clocks
Cl 22
c2 24
C3 23
C4 3l
5 35

& = Average Clocks sold per company. Clocks of C1 is how much less than A7
Options:
1. % 2
o % 4
3 %o
4 v 5

Question Number : 117 Question 1d : 5459275571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e &1 it it Ty autt E A né att &t e gl

FqeA1 | wE F FE
Cl 22
c2 24
C3 28
C4 31
[oL 35

& = v e S TS o T 1 Faret A & e aw



Options:
1. % 2
o % 4
3 %5
4. v g

Question Number : 118 Question Id : 5459275572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The line graph given below shows the ternperature {in “C) on different davs of a weel,

*

44 1
4. 1

Tom persture (in *C)
T
L=

3: w ™ T Ll T Ll

DI D2 D3I D4 DS D6

Days

What 15 the average termperature per day?
Options:

1.9 3933°C

2 % 40.33°C

3 % 41 33°C

4 % 42 33°C

Question Number : 118 Question Id : 5459275572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et Te T AT T g o ATy At o awEe (O ®) @ i A

44 -
42 4
40 1
38 4
36 1
34 1
32

AR (°C )

DI D2 Di D4 DS Dé
=

Wi Te T THT #7247 57
Options:



1.9 39.33%C
2. % 40.33%C
3 % 41 33%C
4, % 42 33%C

Question Number : 119 Question Id : 5459275573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The line graph given below shows the number of laptops manufactured by a company on different days of a
waal

2000 -

£ 1625
& -
g 1500 1 L
; . ) i ‘.-I
g 1000 800~ 1200
- -
ﬁ_ 00

':' T T L 2

D1 D2 D3 D4

Days

What is the percentage increase in laptops manufactured by company from day D1 to Day D47
Options:

1. % 104 15 percentage

2. % 107125 percentage

3. % 100,125 percentage

4 ¢ 103 125 percentage

Question Number : 119 Question Id : 5459275573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e oz T e g o Aty ot o st gw T AueT & wear i gatar 3

2000 -
1625
.
1500 4 g
1400
% 1000 1 800 _~" 1200
-
500 4
0+ - . .
Dl D2 D3 D4

RAD1 § T D4 T ot gRT (THT fue i # i nidae gk 78 87
Options:

1. % 10415 nidaT

2 % 107125 nideaT

I % 100,125 gidsT



4 % 103 125 yidaT

Question Number : 120 Question Id : 5459275574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The bar graph given below shows the number of shirts sold by the shopkeeper in different months of a vear.

1000 4
) $28
2 500 4 48 e
- 624 1
= 600 4 1 512 [
2 0]
£
-
L 200 1
‘:l L - 1 - - - ¥ - i L - o ¥ - .
A M2 M3 N4 MS
Months

The number of shirts sold in month M1 is what percent less than the number of shirt sold in month M5?
Options:

1. % 45 72 percent

2. ¥ 50.72 percent

% % 55 72 percent

4, % §0.72 percent

Question Number : 120 Question Id : 5459275574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=it e mar avE T g a & Sig wiETH g Eer SR S T FiET G S B gaiar g

1000 1
800 1
600 4 512 M

00 1 ™M

= & g

200 1
0 —iid 4. __1 ——a - 1L

Ml M2 M3 MY MS

wfn

ARl M1 H ST T AT T A AR MS o ST T AT T Eea 7 e nideT & 87
Options:
1. % 4572 uidaT

= & 5072 uldad
= ¥ oS 7o oOideT
4 ® 0.7z uldad



General Englishl

Group Number : 7
Group Id : 545927277
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

eneral Englishl

Section Id : 545027277

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 545927331
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5459275575 Question Type: MCQ Option Shuffling: Yes Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose ™o error’.

My brother (1) [ 15 elder (2) | than me (3) | No error (4)
Options:
1.%1
2. % 2
3.¢3
4 % 4

Question Number : 121 Question Id : 5459275575 Question Type: MCQ Option Shuffling: Yes Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

My Lrother (1) [ 15 elder (23 | than me 3) [ No error (4)
Options:
1.%1
E



. v 3
4. % 4

Question Number : 122 Question Id : 5459275576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘MNo error’.

The price of (1) | progressed has (2) | been rather heavy (3) . No error (4)
Options:
1.% 1
2. V2
3. %3
4 % 4

Question Number : 122 Question Id : 5459275576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

The price of (1) | progressed has (2) | been rather heavy (3) |. No error (4)
Options:
1.%1
2. w2
3% 3
4. % 4

Question Number : 123 Question Id : 5459275577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

The rain stopped (1) | when she (23 [ arrived (3) [ No error (4)
Options:
1.¥v 1
R
3% 3
4 % 4

Question Number : 123 Question 1d : 5459275577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘MNo error’.

The rain stopped (1) | when she (2) [ arrived (3) [ Mo error (4)
Options:
1.¥ 1
2. %2
3. %3
4 % 4



Question Number : 124 Question 1d : 5459275578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The sun (1) | do not (2) | &t in the BEast (2) |, MNo aerror (d)
Options:
1.%1
2. v 2
3% 3
4 % 4

Question Number : 124 Question Id : 5459275578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

The sun (1) | do not (23 | set in the East (Z) [ No error (4)
Options:
1.%1
2. 2
3% 3
4 ® 4

Question Number : 125 Question Id : 5459275579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

That group of (1) | students is going (2) | on a picnic (33 [ No error (4)
Options:
1.% 1
2. %2
=% 3
4 ¥ 4

Question Number : 125 Question 1d : 5459275579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

That group of (1) | students is going (2) | on a picnic () [ No error (4)
Options:
1.% 1
2. %2
3. %3
4 ¥ 4

Question Number : 126 Question Id : 5459275580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

She {dares) not come before me.
Options:

1. ¥ dare

2. % dared

2. % daring

4. % No Improvermnent

Question Number : 126 Question Id : 5459275580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

She (dares) not come before me.
Options:

1. ¥ dare

2. % dared

2. % daring

4. # Mo Improvermnent

Question Number : 127 Question Id : 5459275581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

All his sheep (have) grazing in the field.
Options:

1. % is

2 ¥ are

3. % had

4. % No Improverment

Question Number : 127 Question Id : 5459275581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

All his sheep (have) grazing in the field.
Options:

1. % is

2 ¥ are

2. * had

4. % No Improvermnent

Question Number : 128 Question Id : 5459275582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Improve the bracketed part of the sentence.

The great warrior and patriot ({5) being honoured.
Options:

1. ® are

2. % hawe

3% were

4.9 Mo Improvement

Question Number : 128 Question Id : 5459275582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

The great warricr and patriot (5) being honoured.
Options:

1. % are

2. % have

3% yeere

4. ¥ No Improvermnent

Question Number : 129 Question Id : 5459275583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

He behaved as if he (was) our master.
Options:

1. ¥ were

2. % s

2. % has

4. % IMNo [mprovernent

Question Number : 129 Question Id : 5459275583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

He behaved as if he (was) our master.
Options:

1. 9 were

2. % i3

3. % has

4. % MNo Improvermernt

Question Number : 130 Question Id : 5459275584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

The father and son (works) in the field.



Options:

1. * working
= W work
2% weere work

4. % INo Improvernernt

Question Number : 130 Question Id : 5459275584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rmprove the bracketed part of the sentence,

The father and son (works) in the field.
Options:

1. * working

= ¥ work

3. % wypere work

4. % INo lmprovernent

Question Number : 131 Question Id : 5459275585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

______ giving him adwice, he gawve him sorme morney.
Options:

1. % For

2. ¥ Cn

2 % To

4 % At

Question Number : 131 Question Id : 5459275585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

______ giving him advice, he gave hirm sorme morney.
Options:

1. # For

2. ¥ Cn

3 *To

4 ® At

Question Number : 132 Question Id : 5459275586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

The cat sprang the tahle.
Options:

1. ¥ upon



2. % on
3% in

4. % for

Question Number : 132 Question Id : 5459275586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been Ziverl with a blarnlk to be filled with an appropriate word. Choose the correct alternative.

The cat sprang the table.

Options:
1. % upon
2. % on
2 %in

4 % for

Question Number : 133 Question Id : 5459275587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

The tree was cut by the mman ______ ar axe.
Options:

1.¥ by

2. % along

= % during

4. # towards

Question Number : 133 Question 1d : 5459275587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The tree was cut by the man Arl Axe.
Options:

1.9 by

2. % along

2 % during

4. towards

Question Number : 134 Question Id : 5459275588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& senterice has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
It wasacase of a miser ______ his money.

Options:

1. % also

2. % but

3. ¥ because



4 % and

Question Number : 134 Question Id : 5459275588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& senterice has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
It was a case of a miser his rooney.

Options:

1. % also
2% but

2. % because

4 % and

Question Number : 135 Question 1d : 5459275589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He ______ his sister is guilty.

Options:
1. #* both

2 % noless than
2. % not only
4. % 30

Question Number : 135 Question Id : 5459275589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He _____ his sister 15 guilty.

Options:
1. % both

2. % noless than
2 % not only
4. % =0

Question Number : 136 Question Id : 5459275590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

che 15 slow she is steady.

Options:

1. * because
2. % eyen
2.9 but

4. % only



Question Number : 136 Question Id : 5459275590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

sheisslow ______ she is steady.

Options:
1. ¥ because

Z® even
= ¥ but

4. % only

Question Number : 137 Question 1d : 5459275591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Many things hawve happened here vou left.

Options:
1. % since

2. % while
2 % until

4. % therefore

Question Number : 137 Question Id : 5459275591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Many thirngs have happened here vou left.

Options:

1. ¥ since
2. % while
2% until

4. % therefore

Question Number : 138 Question Id : 5459275592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

The noted actor and musician ______ giving a dermonstration.
Options:

1. % are

2 ¥ is

2. % has

4. #® hawe

Question Number : 138 Question Id : 5459275592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The noted actor and musician giving a dernorstration.

Options:
1. % are

o % s
3. % has

4. % hawe

Question Number : 139 Question Id : 5459275593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentences. Out of the four options given, select the most logical
order of the sentences to form a coherent paragraph.

F: on her cwr

3 she is

E: to carry the box
S0 too weals
Options:

1. % POQES

o % QSEF

=% QRPS

4. % QPLIR

Question Number : 139 Question Id : 5459275593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentences. Out of the four options given, select the most logical
order of the sentences to form a coherent paragraph.

F: on her own

) she is

E: to carry the box
S to0 weal
Options:

1. % PQRES

2. % QSEF

3. % QRPS

4 % QPSR

Question Number : 140 Question Id : 5459275594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The question below consists of a set of labeled sentenices. Out of the four options given, select the most logical
order of the sentences to form a coherent paragraph.

F: 50 dark

: that I can
E:Itis

5 see nothing
Options:

1. % QSEFP



2. % PORS
3. ¥ RPOS
4. % ROQSP

Question Number : 140 Question Id : 5459275594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The question below Consists of a set of labeled sentences. Out of the four options givernl, select the most logical
order of the sentences to form a coherent paragraph.

F: 50 dark

3 that I can

R:Itis

5. see nothing

Options:

1. % QSEFP

2. % PORES

3. ¥ RPOS

4, # ROSP
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Question Number : 141 Question 1d : 5459275595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentenices. Out of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

P: There was much uproar and high exciterment.

; Last evening, while passing through Chandni Chowlk,

R I proceeded towards the crowd and asked an old man what had happened.
5. I saw a large crowd gathered in front of the shop of a general merchant.

Options:

1. ¢ OSPR
2. % PORS
2. % QRSP
4 % QPRS

Question Number : 141 Question Id : 5459275595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

The question below consists of a set of labeled sentences. Cut of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: There was much uproar and high exciterment.

3 Last evening, while passing through Chandni Choewls,

E: I procesded towards the crowd and asked an old man what had happened.
S:1 saw a large crowd gathered in front of the shop of a general merchant.

Options:

1. ¢ OS5PR
2. % PORS
2. % QRSP
4 % JPRS

Question Number : 142 Question Id : 5459275596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

Abolish
Options:

1. % Collocate
2. % Create
3. % Destroy

4 % Insinuate

Question Number : 142 Question Id : 5459275596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that rmeans the same as the given word,

Abolish
Options:



1. % Collocate
2 % Create
3. ¥ Destroy

4. % Insinuate

Question Number : 143 Question 1d : 5459275597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that means the same as the given word.

Support
Options:

1.9 Aid

2. ® Cppose
3. % Hamper
4. % Brealk

Question Number : 143 Question Id : 5459275597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

Support
Options:

1.9 Aid

2. % Cppose
2. % Hamper
4. ® Break

Question Number : 144 Question Id : 5459275598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Erilarge
Options:
1. ® Concrete
= % Augment
2.9 Abridge

4. % Acrumulate

Question Number : 144 Question Id : 5459275598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that is opposite in meaning to the given word.

Enlarge
Options:
1. ¥ Concrete

2 ® Augment



3. ¥ Abridge

4 * Acrumulate

Question Number : 145 Question 1d : 5459275599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Desolate

Options:

1. ¥ Cuiet

2. ® Dreary

3. % Considerate

4 9 [mprove

Question Number : 145 Question Id : 5459275599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Desolate

Options:

1. % Cuiet

= % Dreary

3. ® Considerate

4. ¥ Improve

Question Number : 146 Question Id : 5459275600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that 1s opposite in meaning to the given word.

Cowardice

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1. Audacity

2. Boldrness

2. Fear

4. Hurrlity

Question Number : 146 Question Id : 5459275600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Cowardice

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. Audacity



2. Boldness
2. Fear
4. Hurmlity

Question Number : 147 Question 1d : 5459275601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. % Acceptable
2. % Exceptabel
3. % Aceptable
4. % Acceptabal

Question Number : 147 Question Id : 5459275601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:

1. ¥ Acceptable
2. % Exceptabel
2. % Aceptable
4. % Acceptabal

Question Number : 148 Question Id : 5459275602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ir1 the given question, four words are given out of which one word 15 correctly spelt. Choose the correctly spelt
wiord.

Options:

1. % Acuire

2. % Aquire

2.9 Acquire

4. % Ecquire

Question Number : 148 Question 1d : 5459275602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOTrdl.

Options:

1. % Acuire

2. % Aquire

3. ¥ Acquire

4. % Ecquire

Question Number : 149 Question Id : 5459275603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:

1. % Allott
2. % Alaut
2% Ollot

4. ¥ Allot

Question Number : 149 Question Id : 5459275603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wiord.

Options:

1. % Allott
2. % Alaut
2% Ollot
4. % Allot

Question Number : 150 Question Id : 5459275604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

m board
Options:

1. % IMever

2. ¥ Joined

2. % Work hard
4. % 4 little

Question Number : 150 Question Id : 5459275604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom (Phrase.

On board
Options:

1. % DMNever

2. ¥ Joined

2 % Work hard
4. % A little

Question Number : 151 Question Id : 5459275605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

By fits and starts

Options:

1. % In short period

2. % Between two dangers
3. % Under his control

4. % without hops

Question Number : 151 Question Id : 5459275605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

Ev fits and starts

Options:

1. ¥ In short period

= % Between two dangers
3. % Under his control

4. % Without hope

Question Number : 152 Question Id : 5459275606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Cry for the moon

Options:

1. % Cery nervous

2. % Keep one at a distance
2. ¥ Aslk for the impossible

4. % Run away

Question Number : 152 Question Id : 5459275606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom (Phrase.

Cry for the moorn

Options:

1. ® Cery nervous

= % Keep one at a distance
3.9 Ask for the impossible

4. % Run away

Question Number : 153 Question Id : 5459275607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

Cne who studies the evolution of mankind
Options:

1. % Archasologist

2. ¥ Anthropologist

3. % Pathologist

4. % COphthalmologist

Question Number : 153 Question 1d : 5459275607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given senternce.

Omne who studies the evolution of mankind
Options:

1. % Archaeologist

2. ¥ Anthropologist

3. % Pathologist

4. % Cphthalmologist

Question Number : 154 Question Id : 5459275608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

A self-governing country or region
Options:

1.9 Autonomy

Z % Democracy

3. # Republic

4 % nion

Question Number : 154 Question Id : 5459275608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

& self-governing country or region
Options:

1. ¥ Autononty

2. % Democracy

2. % Republic

4 % TInion

Question Number : 155 Question Id : 5459275609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Zhoose the word that can substitute the given senternce.

A& secret or disguised way of writing
Options:

1. % Calligraphy

2. % Cartography

= ¥ Cipher

4 % Lewicography

Question Number : 155 Question Id : 5459275609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

& secret or disguised way of writing
Options:

1. # Calligraphy

2. % Cartography

3. % Cipher

4 # Lexicography

Sub-Section Number: 2
Sub-Section 1d: 545927333
Question Shuffling Allowed : Yes

Question Id : 5459275610 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No
Question Numbers: (156 to 160)

Juestion Label : Comprehension
Fead the following information carefully and answer the given questions.

The most irnportant reason for this state of affairs, perhaps, is that India was the only country in the world to
truly recognize the achievernents of the Soviet Union rather than merely focus on the debilitating faults that
corrrmunism brought to its people. The people of India realized that the achievernent of one hundred percent
literacy in a country, rrach larger than its owrl and with sirnilarly complicated ethnic, and religious groupings
the rapid industrialization of the nation that was a primarily agrarian society when the Bolshewik revolution
took place in 1917, The attendant revolutionary steps in science and technology the accessibility of health care
to the general population and despite the prohibition of the government of the time the vast, outpourings in
literature, music, art, etc are mormentous and rernarkable in any country. In contrast, all that the West focuses
or where the massive human rights violations by the Soviet State on its people, the deliberate uprooting and
mass migrations of ethnic peoples from one part of the country to another in the name of industrialization, the
end of religion. In short, all the tools of information were employved to condernn the ideology of comrmmmunism,
s0 rmuach at variance with capitalist thinking.

The difference between the Indian perception. [ think here is, while the Indians reacted as negatively to what
the Soviet Governument's did to its people in the name of good governance( witness the imprisonment of Boris
Pasternalk and the formation of an Internaticnal comrnittes to put pressure for his release with Jawaharlal
Nehru at its head), they took the pain not to condernn the people of that broad country in black and white
terms, the understood that mingled in the shades of grey were grains of uniqueness ( the Russians have never
failed that characteristic in themselves, they have twice experimented with completely different ideologies,
corrrmunism, and capitalism both in the space of country).

Sub questions



Question Number : 156 Question Id : 5459275611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose a word from the passage which means the same as phenormenal.

Options:

1. # Perception

2. % Imprisonmernt
% ¥ Remarkable

4. # Capitalism

Question Number : 157 Question Id : 5459275612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose g word which means the same as prohibition.

Options:

1. ¢ Prevention
2. % Allowance
3. ® Approval

4. % Help

Question Number : 158 Question Id : 5459275613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following staternents is true?

Options:

1. # India took heed about the wealk faults of Russian policies and system

2. ¥ India sericusly commended the achievernent of Russia

Z. % The process of industrialization had already started, when Russian Revolution took place in 1917

4. % The literature, rmusic and art received a set back during the corurunist regirme in Bussia

Question Number : 159 Question Id : 5459275614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The West did not focus on:

Options:

1. ® Rapid growth of nuclear weaporn in Russia

2. % Massive human rights viclation by the Soviet State on its people

3. # Deliberate uprooting and mass migration of ethnic people in the name of industrialization

4. ¥ Massive human rights violation by the Soviet State on its people and Deliberate uprooting and mass
migration of ethnic people in the name of industrialization

Question Number : 160 Question Id : 5459275615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Indian perception of the USSR was always:

Options:
1. ® MNegative
2. % PNeutral

% % Counter reactionary



4. % Applauding

Question Id : 5459275610 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Cuesticon Label | Comprehension

REead the following information carefully and answer the given questions.

The most important reason for this state of affairs, perhaps, is that India was the only country in the world to
truly recognize the achievernents of the Soviet Union rather than merely focus on the debilitating faults that
corrrmunism brought to its people. The people of India realized that the achievernent of one hundred percent
literacy inl a country, rrach larger than its owrl and with sirnilarly complicated ethnic, and religious groupings
the rapid industrialization of the nation that was a primarily agrarian society when the Bolshevil: revolution
toolk place in 1917, The attendant revolutionary steps in science and technology the accessibility of health care
to the general population and despite the prohibition of the government of the time the vast, outpourings in
literature, music, art, etc are mormentous and rernarkable in any country. In contrast, all that the West focuses
or1 where the rmassive hurman rights riolations by the Sowiet State on 115 people, the deliberate uprooting and
mass migrations of ethnic peoples from one part of the country to another in the name of industrialization, the
end of religion. In short, all the tools of information were employed to condermn the ideology of cormmunism,
s0 rmuach at variance with capitalist thinking.

The difference between the Indian perception. I think here is, while the Indians reacted as negatively to what
the Soviet Gowernment's did to its people in the name of good governance( witress the imprisonment of Boris
Pasternalk and the formation of an Internaticnal cormrmittes to put pressure for his release with Jawaharlal
Nehru at its head), they took the pain not to condernn the people of that broad country in black and white
terms, the understood that mingled in the shades of grey were grains of uniqueness ( the Russians have never
failed that characteristic in themselves, they have twice experimented with completely different ideclogies,
corrrmunism, and capitalism both in the space of country).

Sub questions

Question Number : 156 Question Id : 5459275611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose a word from the passage which means the same as phenomenal.

Options:

1. % Perception

Z. % Imprisonment
2. ¥ Hemarkable

4. % Capitalism

Question Number : 157 Question Id : 5459275612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose a word which means the same as prohibition.

Options:

1. % Prevention
2. % Allowance
3% Approval

4. % Help

Question Number : 158 Question Id : 5459275613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following statements is true?

Options:



1. ® India took heed about the weak faults of Russian policies and system
2. ¥ India seriously commended the achievernent of Russia
3. % The process of industrialization had already started, when Russian Revolution took place in 1917

4. % The literature, music and art received a set back during the communist regime in Russia

Question Number : 159 Question Id : 5459275614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The West did not focus on:

Options:

1. ¥ Rapid growth of nuclear weapon in Fussia

2. % Massive human rights violation by the Soviet State on its people

% ¥ Deliberate uprooting and mass migration of ethnic people in the name of industrialization

4. % Massive human rights viclation by the Soviet State on its people and Deliberate uprocting and mass
rmigration of ethnic people in the name of industrialization

Question Number : 160 Question Id : 5459275615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Indian perception of the USSR was always:

Options:

1. % MNegative

2. % Neutral

= % Counter reactionary

4. ¥ ipplauding

General Hindil

Group Number : 9
Group Id : 545927279
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Ferneral Hindil

Section Id : 545927279
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20

Section Marks: 20



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 545927334
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 5459275616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1.¥dr
2. % gar
3 %A

4. ® &y

Question Number : 161 Question Id : 5459275616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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ogdT
Options:
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2. % gar
R

4. % 7y

Question Number : 162 Question Id : 5459275617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2. % g
3 arfer
4 % Zdr

Question Number : 162 Question Id : 5459275617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



1. %4
> %o
3. v arfr
4. Fqr

Question Number : 163 Question 1d : 5459275618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ HEdcaRTeET
o, % FEdd aRTeET
3. ® meedidET
4, ¥ FIEATRTEAT

Question Number : 163 Question Id : 5459275618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ TEdcqRTeET
2. % AT AT
3. ¥ meedideET
4, % FEIT T

Question Number : 164 Question Id : 5459275619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % FTidam=s
2 % TedEE
3. % i
4. ¥ e

Question Number : 164 Question Id : 5459275619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 165 Question Id : 5459275620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 165 Question Id : 5459275620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ fgem

2 % AE

z ® g

4. % gz7

Question Number : 166 Question Id : 5459275621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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3. o Ulgw
4. % arfaeae

Question Number : 166 Question Id : 5459275621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ® S
2 ®
2 ¢ URaw
4. % gk

Question Number : 167 Question Id : 5459275622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 167 Question Id : 5459275622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 168 Question Id : 5459275623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2 ® amm
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Question Number : 168 Question 1d : 5459275623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 169 Question Id : 5459275624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¢ amfoig
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Question Number : 169 Question Id : 5459275624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 170 Question Id : 5459275625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 171 Question Id : 5459275626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ® &=F - ywmr

2. TN - S

3 ® P - aiw

4. % e - GgwT



Question Number : 171 Question Id : 5459275626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2, ¢ HEWT - A

Z % gz - aiw
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Question Number : 172 Question Id : 5459275627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % Fifr

2 % g

3 % mig

4. ¥ gaiey

Question Number : 172 Question Id : 5459275627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % goite
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3 % mwyg

4 gafeg

Question Number : 173 Question 1d : 5459275628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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4 % Uz

Question Number : 173 Question Id : 5459275628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2 %
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4 % mEE

Question Number : 174 Question 1d : 5459275629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 174 Question Id : 5459275629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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4 g

Question Number : 175 Question 1d : 5459275630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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2 % mwg
3. # apEmEr
4 ¥ ST

Question Number : 175 Question Id : 5459275630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 176 Question 1d : 5459275631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Correct Marks: 1 Wrong Marks: 0.25
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Options:
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